

$\times \div$ coefficients

$$2x = 10$$

$$5x = 2$$

$$\frac{x}{2} = 4$$

$$\frac{3x}{2} = 4$$

$$1.5x = 7$$

$$\frac{x}{2.3} = 10$$

$$\frac{4x}{3} = 8$$

$$\frac{x}{2} = \frac{8}{3}$$

$$10 = \frac{x}{2}$$

$$5 = 4x$$

$$\frac{1}{x} = 10$$

$$\frac{4}{x} = 8$$

$$\frac{2}{3x} = 10$$

$$\frac{a}{x} = b$$

$$ax = b$$

$$\frac{2x}{a} = 4$$

$$\frac{x}{2} = (4-a)^n$$

$$\frac{\Gamma x}{3} = (a-b)$$

$$\frac{4}{x} = (\Gamma + \alpha)$$

$$\frac{x}{a-b} = 2$$

$$\frac{x}{(a-b)} = \frac{\Gamma - \alpha}{2}$$

$$\frac{x_0 - x_1}{x} = \frac{4}{3}$$

$$\frac{x_0 - x_1}{x} = \frac{\Gamma - \alpha}{2}$$

$$\frac{1}{x-2} = 4$$

$\times \div$ coefficients

$$\frac{1}{2}(2x) = (10)\frac{1}{2}$$

$$x = 5$$

$$\frac{1}{5}(5x) = (2)\frac{1}{5}$$

$$x = \frac{2}{5} = 0.4$$

$$2\left(\frac{x}{2}\right) = (4)2$$

$$x = 8$$

$$\frac{2}{3}\left(\frac{3x}{2}\right) = (4)\frac{2}{3}$$

$$x = \frac{8}{3} \approx 2.67$$

$$\frac{1}{1.5} (1.5x) = (7) \frac{1}{1.5}$$

$$x = \frac{14}{3} \approx 4.67$$

$$2.3 \left(\frac{x}{2.3} \right) = (10) 2.3$$

$$x = 23$$

$$\frac{3}{4} \left(\frac{4x}{3} \right) = (8) \frac{3}{4}$$

$$x = 6$$

$$2 \left(\frac{x}{2} \right) = \left(\frac{8}{3} \right) 2$$

$$x = \frac{16}{3} \approx 5.33$$

$$2(10) = \left(\frac{x}{2}\right) 2$$

$$x = 20$$

$$\frac{1}{4}(5) = (4x) \frac{1}{4}$$

$$x = \frac{5}{4} = 1.25$$

$$x\left(\frac{1}{x}\right) = (10)x$$

$$\frac{1}{10}(1) = (10x) \frac{1}{10}$$

$$x = \frac{1}{10} = 0.1$$

$$x\left(\frac{4}{x}\right) = (8)x$$

$$\frac{1}{8}(4) = (8x) \frac{1}{8}$$

$$x = \frac{1}{2} = 0.5$$

$$x \left(\frac{2}{3x} \right) = (10) x$$

$$\frac{1}{10} \left(\frac{2}{3} \right) = (10x) \frac{1}{10}$$

$$x = \frac{1}{15} \approx 0.067$$

$$x \left(\frac{a}{x} \right) = (b) x$$

$$\frac{1}{b} (a) = (bx) \frac{1}{b}$$

$$x = \frac{a}{b}$$

$$\frac{1}{a} (ax) = (b) \frac{1}{a}$$

$$x = \frac{b}{a}$$

$$\frac{a}{2} \left(\frac{2x}{a} \right) = (4) \frac{a}{2}$$

$$x = 2a$$

$$2 \left[\frac{x}{2} \right] = \left[(4-a)^n \right] 2$$

$$x = 2(4-a)^n$$

$$\frac{3}{\Gamma} \left[\frac{\Gamma x}{3} \right] = \left[(a-b) \right] \frac{3}{\Gamma}$$

$$x = \frac{3(a-b)}{\Gamma}$$

$$x \left[\frac{4}{x} \right] = \left[(\Gamma + \alpha) \right] x$$

$$\frac{1}{(\Gamma + \alpha)} [4] = \left[(\Gamma + \alpha) x \right] \frac{1}{(\Gamma + \alpha)}$$

$$x = \frac{4}{\Gamma + \alpha}$$

$$(a-b) \left(\frac{x}{a-b} \right) = (2)(a-b)$$

$$x = 2(a-b)$$

$$(a-b) \left[\frac{x}{(a-b)} \right] = \left[\frac{\Gamma - \alpha}{2} \right] (a-b)$$

$$x = \frac{(\Gamma - \alpha)(a-b)}{2} = \frac{1}{2}(\Gamma - \alpha)(a-b)$$

$$x \left(\frac{x_0 - x_1}{x} \right) = \left(\frac{4}{3} \right) x$$

$$\frac{3}{4} (x_0 - x_1) = \left(\frac{4}{3} x \right) \frac{3}{4}$$

$$x = \frac{3}{4} (x_0 - x_1)$$

$$x \left(\frac{x_0 - x_1}{x} \right) = \left(\frac{\Gamma - \alpha}{2} \right) x$$

$$\frac{2}{(\Gamma - \alpha)} [x_0 - x_1] = \left[\frac{(\Gamma - \alpha)}{2} x \right] \frac{2}{(\Gamma - \alpha)}$$

$$x = \frac{2(x_0 - x_1)}{\Gamma - \alpha}$$

$$(x-2) \left(\frac{1}{x-2} \right) = (4) (x-2)$$

$$\frac{1}{4} [1] = [4(x-2)]^{\frac{1}{4}}$$

$$\frac{1}{4}^{x^2} = x - 2^{x^2}$$

$$x = \frac{9}{4} = 2.25$$